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Use the following graph for questions #1-12. 
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10.  Explain why y = 1 is a horizontal asymptote to ( )g x . 

 
 
11.  Explain why x = -2 is a vertical asymptote to ( )g x . 

 
 
12.  Is there a vertical asymptote at x = 2?   
 
 
13.  Sketch the graph of  f  that satisfies all of the given conditions. 
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14.  Find the following for ( )g x . 
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  f)  equations of all asymptotes 

 
 
 
 
 
 
 
 
 
 
Find each limit using a calculator. 
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32.  The cost in millions of dollars for a governmental agency to seize %x  of an illegal drug is  

528
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 .  Find the cost for seizing 25% of the drug, 50% of the drug, and 75% 

of the drug.  Find the limit of C as 100x −→   and interpret its meaning. 


